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Figure S8: Similar performance of Signature-H8 and signature-H for the evaluation of the Ts-12 of brain
neuroblastoma

The Ts-12 of brain neuroblastoma specimens was calculated using the genes included in signatures H and 8
genes included in signature H that are present in the Agilent custom array A-MEXP-1746 (signature-H8).

The Ts-12 of brain neuroblastoma was calculated as the difference between the mean expression (log2) of the
signature genes in the cancer specimens and the mean expression (log2) of the same genes in the correspond-
ing HT (brain). The mean Ts-I12+1SE is reported. A Ts-12 between 0.32 and -0.32 (green area) was considered to
indicate that the Tci of the tumor was similar to that of the corresponding HT. Student’s t-test was used for com-
paring the Ts-12 calculated using signature-H and the Ts-12 calculated using signature H8.



